ENEE630 ADSP RECITATION Part 1 w/ solution Ver.201209

1. Consider the structures shown in Fig. RI.1, with input transforms and filter responses as

indicated. Sketch the quantities Yy(e/“) and Y7 (e?%).
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Comment: For a down-sampled signal, it’s still possible to recover the original signal (not necessarily
low-pass) using filters and multirate building blocks as long as there is no aliasing (H; in this

problem).

2. For each case shown in the Fig. RI1.2, prove or disprove whether the left system is equivalent

to the right system? Assume M, L, K are all integers larger than 1.

Solution:  Assume the input, output, intermediate signals are x(n),y(n), and u(n), respectively.
(a). (FD) U(z) = X (M), Ya(z) = & S0 UEYMWE) = & SV XEWEM) = X(2).
(TD) u(n) = x(57) if n is a multiple of M, and u(n) = 0 otherwise. Then, y2(n) = u(Mn) = z(n).
(b). (FD) U(2) = g opty' X(ZMW), Ya(z) = U(M) = 4 050 X (2WE).
xz(n) n is multiple of M

(TD) u(n) = x(Mn), y2(n) = u(g7) = x(n) only if n is a multiple of M, i.e., y2(n) =
0 otherwise.

1



e AR TR
poe ] et
- e S S G
R K e e
o g et K

Figure RI.2:

(c). (FD) U(z) = X(25), Ya(2) = U(zF) = X (5F).
(TD) u(n) = x(%) only if n is a multiple of K, and y2(n) = u(}) only if n is a multiple of L. Zero
otherwise. Hence, y2(n) = () only when n is a multiple of KL.

(d) (FD) U(2) = % Yo X(/5WE), Ya(2) = 57 g UMW)
= T Lo Lo X (MM e IRH e IRI) = e 350100 TS X (MW
ST S
(TD) u(n) = z(Kn), y2(n) = uw(Mn) = z(KMn).

(e) (FD) Left: Yi(2) = & o X(YMWE); Right: Ya(2) = wig Sonce ' X (HMWE )
(TD) Left: ya(n) = aj(n%) only when n is a multiple of L; right: ya(n) = m(n%) only when n is a
multiple of K L.

Note: To prove/disprove the equivalence, you can prove either in time domain or in freq domain, no

need to do both. You are recommended to try all on your own (except (d) freq domain) to familiar

yourself with the derivation.

3. Simplify the following systems in Fig. 1.3.
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Figure RI.3:

Solution:  The simplified systems are as follows
Note: The basic relationships from the previous problem and Nobel identities are applied. For part

(d), the trick is z = 23272 and 271 = 27322



@ e e e e

4. In this problem, the term ‘polyphase components’ stands for the Type 1 components with
M = 2.

(a) Let H(z) represent an FIR filter of length 10 with impulse response coefficients h(n) = (1/2)"
for 0 <n <9 and zero otherwise. Find the polyphase components Ey(z) and E;(z).

(b) Let H(z) be IIR with h(n) = (1/2)"u(n) + (1/3)"u(n — 3). Find the polyphase components
Ey(z) and Ej(z). Give simplified, closed form expressions. (Hint: H% = 11_;;5)

(c) Let H(z) = 1/(1 —2Rcosfz~' + R%2272), with R > 0 and 0 real. This is a system with a

+j6

pair of complex conjugate poles at Re™??. Find the polyphase components Fy(z) and F1(z).

Solution:
(a). Eo(z) =1+ (1/2)%27" +(1/2)*272 + (1/2)°27° + (1/2)%27%, Ei(2) = 1/2 4+ (1/2)>27" +
(1/2)5272 4+ (1/2)7273 4+ (1/2)°274

(b). H(z) = 1—(1/12)z71+1(—1{f);)z,;1 = T—rgﬁ%j:;""(1/3):?(:13;)()12@2)4274' Hence, Eo(z) = 1—(1/14)271 +
%, and F1(z) = 1_(11/5Z,1 + 1(_1{3;)'2;1

(©) H(:) = romasgirrm= = (omar sy Henee, Fo(z) =
(1+R22*%5513242R721c052 g=1> and B (2) = (1+R2z*12)§—cfl)§%92 cos2 021

5. A uniform DFT analysis bank (Type 1) is shown in Fig. RI.5(a), where W* is the M x M IDFT
matrix, i.e., the (m,n)-th entry is W™ with indices m,n starting from 0. The transfer function

from input port x(n) to output port zx(n) is denoted by Hy(z). Answer the following questions.

x(n) » Eolz™ —*Xp(n) A
:Z s w* | } HO(dw)
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Figure RL.5:

(a). Prove Hy(z) = Ho(:W,,) for 0 < k < M —1. Given Hy(e’*) in Fig. RL5(b), sketch H;(e/)
when M = 2, and H;(e’%), Ho(e’*) when M = 3.
(b). M =4. Assume Eg(z) = 1+271, E1(2) = 142271, Ey(2) = 2+271, and E3(2) = 0.5+ 271



Find numerical values of these filter coefficients for Hy(z), 0 < k < 3.

(c). M =2. Let Ho(2) = 1+ 2271 + 4272+ 2273 4 27%, and let Hy(z) = Ho(—z). Draw an
implementation for the pair [Hyp(z), H1(2)] in the form of a uniform DFT analysis bank, explicitly
showing the polyphase components, the 2 x 2 IDFT box, and other relevant details.

Solution:
(). Ho(2) = Smp 2 ™ Em(zM), Hy(2) = Y02y 2 " En(2M)Wy™ = S0 20 (W) ™™ Ep (zWF)M) =
Ho(zWE,). Hy(e?*) = Ho(edw=2mk/M)),

_ M=3
M=2 H() H (") H (@)

-t -2n/3 ‘ 2n/3 w >a) - a3 | 23 T

(). Ho(z) =1+ 21 +2272 405234274 +2: 54204+ 277 Hi(2) = 145271 —2272 -
05523 + 27442275 — 276 — 527 Hy(2) =1— 271 4+2:72 05234274 2254 276 77,
H3(z) =1—jz' =224 05523 + 274 =225 — 276 + 5277, (j = /—1).

(c) Note that W4 = —1, then they can be implemented together using one DFT analysis bank.
Eo(z) =1+427 4+ 272 Bi(2) =2+ 2271,

e E@)
Z—‘I
E (Z%)
Note:

1. W]b = e‘jzﬁﬂ, e.g., W21 = -1, VV41 = —j.

2. W* (with entry Wﬂ}ij ) is called the IDFT matrix, whereas W (with entry W]Z\f[) is called the
DFT matrix. Note that the index starts from 0 and goes up to M — 1. One important property is
that W*W = M. For instance, when M = 2, W* and W happen to be the same

A
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which you will encounter very often when studying the QMF bank.
3. Type 2 DFT bank (synthesis bank) is found in Problem #1 in Homework #2. Similar

and hence using the property,

relationship (“shifted version”) can be found between transfer functions.



4. Given the DFT bank structure, we can expect transfer functions have relationship (a); on
the other hand, given the transfer functions have the relationship, we can implement it by the DFT
structure. Part (b) and part (c) of this problem show the two aspects.

5. For Hy(z), since all weights are 1, it is just the type 1 polyphase representation, and hence
Ho(2) = XpmZg 2 ™ Em(zM).

7.  Prove or disprove: the systems are linear time-invariant (LTT).
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Figure RI.7:

Solution:
- Z]\/I -
(a) NO. U(2) = H(z) 45 S5y X (2 1/MW}a,> Y(2) = UGEM) = ZEL S X 2wy

(b) YES. U(z) = H(2) X (2M), and Y (2) = & Sl UCYMWE) = LS P HEYMWE) X (2) =
[i kM261 H(z'/M WA’})] X (z). Actually, the effective transfer function is just the polyphase com-

ponent Ey(z). An alternative way is using the equivalence

— > k=0

NSy S

% k=1,2,...M-1

Note: A system is LTI if and only if it can be represented by H(z), i.e., Y (z) = H(2)X (2).

8. Prove that the block diagram shown in Fig. RI1.8(a) is a perfect reconstruction system. Based

on this, answer the following questions (No knowledge of QMF bank is needed though. We will

briefly revisit this problem in next recitation):
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(a)

Figure RI.8:
(a) What is the transfer function H'(z) for the block diagram in Fig. RI.8(b)?
(b) Suppose that we are to design a system with the desired system function H(z) = 142271 +
327244273 + 5274 + 6275 + 7270 in a very high-speed environment. If the speed of the devices
used to implement the system is three times slower than the required operating speed, please devise

a scheme that can implement H(z) under the constraint of the device. (Hint: implement 22 H (%))



Solution:

(FD) Up(2) = 57 Soig' X(VMWE), Vo(2) = 47 ohie! X(WE); Ui(2) = 47 Xty =~ VMW X (M W}
Vi(z) = 1\1/122/[_01 _1W_kX(zW]’f/[)' - In general, Uy, (z) = J\l/[ZkMBl _m/MWA}ka(zl/MWAIZ,),Vm(z) =
= g/lol 27MW ka(zWM) As aresult, Y (z) = M- 01 —(M=1=m)yr (%)
=MD L Zm 5 k S WX (2WE). Use the fact that ZM o Wi,/™ = M when k = 0 and
Z%:(}Wﬂ}mk =0 when k=1,2...,M — 1, we get H(z) = z~(M-1),

or

(TD) up(n) = x(Mn),vo(n) = up(n/M) = x(n) only if mod (n, M) = 0. Let wo(n) = vo(n —

M + 1), then wyp(n) = xo(n — M + 1) only if mod (n, M) = M — 1 and 0 otherwise. uj(n) =
x(nM —1),vi(n) =ui1(n/M) =x(n—1) only if mod (n, M) = 0. Let wi(n) = vi(n— M +2), then
wi(n) = x(n—M+1)only if mod (n, M) = M—2 and 0 otherwise. In general, w,,(n) = x(n—M+1)
only if mod (n, M) =M —m —1. y(n) = M Olwm(n) =x(n—M+1).

(a). z~M=DG(M).

(b). Ro(2) =3+62"1,R(2) =2+ 52", Ro(z) =1 + 42~ + 7272,

43 Ro(2) 71
Ry(z)
71 71
R,(2) S 3
Rel2)
71 71
Ry(z)
z e
Y
Ry(z)
Zrl
R,(z) J 13

9. Consider the QMF bank in Fig. R1.9, where Ho(z) = 14+22 71432724273, and H;(z) = Ho(—2).

Figure RI.9:

(a) Design an FIR synthesis bank Fy(z), F1(z) such that the system is alias-free.
(b) Design an IIR synthesis bank Fy(z), F1(z) such that the system is perfect reconstruction. Is
this bank stable? (By default, we assume it is causal)

(c) Design a stable IIR synthesis bank Fy(z), F1(z) such that the system is alias-free and

a*+z—
1+az=1

amplitude-distortion-free. (Hint: is an all-pass filter.)



Solution:
Eo(z) =1+4+327Y Ey(2) =2+ 271,

> {2 E o) | b Rol2) 2
Y 2—1 z—1
> 2 E {2) R4(z) 42

Fo(2) = 271 Ry (2%) + R1(2?), F1(2) = —Fy(—2) = 27 ' Ro(2?) — R1(2?).
(a) Ro(z) = E1(2), R1(2) = Eo(2). T(2) = 227 Ey(22)E1(2?).
(b) Ro(2) = 1/Eg(2), R1(2) = 1/E1(2). T(z) = 22!, However, check that Rg(z) is not stable.
o _ -1 Eo(2) . _ _ _1 — _ Eo(®)
(c) Let E;)((zz) = 3+ 2z, then ol 5 a0 all-pass filter. Ry(z) FABL Ri(2) B
— —1Lo(%
T(z) =2z Tl
Note:

1. When designing a QMF bank, we usually use the polyphase decomposition as in this problem.
In this problem, since the IDFT and DFT matrix cancel out each other, we get a structure similar
to Fig. R1.8(b) with each branch being E,,(z)R,,(z). To make it alias-free, we require all branches
should be the same, i.e., Ey(z)Ro(z) = E1(z)R1(z). If we further desire a system that is amplitude-
distortion-free or P.R., then not only all branches should be the same, but also |Ey,(2) Ry, (2)| = const
(for amp-distortion-free) or E,,(2)Rp(z) = cz7™ (for P.R.). We will discuss more in the next
recitation.

2. In general, if A(2) = ag+a12* + asz2 + ... 4 a,z~ ™, then define A(z) = a* +a_,z7! +

ah_927 2+ ...+ ajz™" (reverse the order and take conjugate), and 38 is an all-pass filter. For

example, ﬁ:'TZZ:lf is the 1-order real-coefficient all-pass filter.

10. Consider a 4-channel filter bank which is alias-free. If we know part of the matrix P(z) as

327t

_ 1 o
O ,

write down the entire matrix P(z). What is the distortion function T'(z)?

Solution:

Since the matrix should be pseudo-circulant,

1 3271 272 21
2,72 1 3z71 2
273 2772 1 3271

3272 73 272 1

P(z) =




The distortion function can be calculated using the first row, i.e., T(2) = 27 3[1+ 3272 + 2710 +
2277].

11. Problem RI.8 revisited. First find the transfer function for Fig. RI.11(a) and (b), Then, given
the desired H(z) = 1+2271 +3272 44273+ 5271 +627°+ 7275, how to implement it on a hardware

platform which is 3 times slower than needed? (Hint: using pseudo-circulant representation)

x(n) —»@—p-— x (’U"
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Figure RI.11:

Solution: ) ;
1
1
(a) P(z) = , H(z) = 2~ (M=1)
L 1 .
_ &) -
(b) P'(z) = Gl=) N , H'(2) = z~M=D@G (M),

G(2) |
B(z)  P(z)  Pl(2)
(c). Implement 2 2H(z). P(z) = | 2 'Py(2)  Py(z) Py(z) |, where Py(z) = 1+4z"1 +
27IP(2) 271Py(2) Po(2)
7272, Pi(2) =2+ 5271, Py(2) =3+ 6271,



P(2)

12. Consider the following M-channel multirate system.

Ho(2) M Co(2) M Fo(2)
Hi(2) M C1(2) M Fi(2)
H]u_l(z) i]\/f C]u_l(z) T]\/[ FM_l(Z)

Assume throughout that the functions F(z), Hi(z), and Ci(z) are rational and stable.

(a) Suppose Hy(z) and Fj(z) are such that the system is alias-free in absence of channel distortion
Cr(z), i.e. when Cj(z) is unity for all k. Now with Cj(z) present, find a modified set of synthesis
filters Fi(z) to retain alias-free property.

(b) Assume Cj(z) has no zeros on the unit circle and has the form of

Ak(z)Bk(z)

Cil2) Dy (z)

where Ay (z) has all the zeros inside the unit circle and By(z) has them outside. Repeat part (a) by

replacing “alias-free” condition with “alias-free and amplitude distortion free” condition.

(c) Now assume that Ck(z) has no zeros on or outside the unit circle, repeat part (a) by replacing

“alias-free” with “perfect reconstruction”.

Solution:
(a) Gr(2) = Fi(2) [T 1 Ci(2M).



Dy (zM M—-1 B;(zM o . B.(ZM) .
(b) Gr(z) = Fy(2) A:EzMg m [TiZ0i2k EiEzM;’ where By (2M) is chosen such that m is an

all-pass filter.
(¢) Gi(2) = Fi(2)/Ci (™).
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